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I Semester B.C.A./B.H.M. & Other Course Degree Examination, May/June - 2022
LANGUAGE SANSKRIT
Sankshepa Ramayana (Balakanda) of Valmiki 1st Sarga Grammar &
Comprehension
(CBCS Scheme NEP Freshers 2021-22 and Onwards)
Paper -1

Time : 2% Hours Maximum Marks : 60
Instructions to Candidates:- 1)  Answer in Sanskrit/ Kannada/ English.

2) Question No.L, V, and VI should be answered
in Sanskrit only.

. wefislieg a faga | (10x1=10)
pifalevsrla) eJ'»g,:maS:ﬁz 302 B0WD.
Select and write the correct answer.

1) ardife: & afo=s?

) TG ) wEm 3) 9RE ¥) fasg
2) i sim: & 3@ Afwe

¥) qfifa 3M) WHsES 3) IrEwEa %) IgRa
3) wEUEEE: ®:?

H) om: 3m) wdN: 3) A 3) W
4) g st F:?

) ™: 3) T 3) gia: %) Wi
5) e T w2

) Frae an) gfeen 3) il 3) @

6) T@UL: M TN ?

*) @ed ) H 3) T %) dfon

[P.T.O.



O W @) AECCos,)
7) G e

) T an) afm: 3) IA: 3) Titam:
8) g e
) weh an) gt 3) T 3) S
9) onfwfa: w:e
) =ama: ) T) arcHifes 3) wiferema:
10) vdoven ¥ frsfim?
H) WA W) WEOR ) W 3) e
II. gt vesedw I ferem (2x8=16)
SRYmALe 2SR v, BOH FoFEIITT GvIoy, 23O,
Write an essay on any two of the following :
1) e wg: e ve e
TOBRODERT BIF[R, HOD TWOT WO,
- Write about the Author of Ramayana.
2) ewvaEmEE wui frea
Slelobplele o ﬁc‘;iojaa’saﬂl DO,
Narrate the story of Aranya Kandam.
3) arcHish: TR0 SREA: W S g |
200 TOBRODETY SLAHTOZ TODD JSTRE, DI,
Rama's departure to the forest as depicted in Ramayana of Valmiki.
1. sawn yetemi Aqar e R | (3x3=9)

CIRFYTRECR TR BRI WRDTRA ATOR.
Translate and explain any Three shlokas.
1) wsafedr qme s oEE wva deam)
yva TV WeaaarEl geud:||
2) o e o @ = Wl

e agad g



A 00
3) w W a @R SiemmgaeE|
fogeamfadyng e Rawwom)l
4) Py T Yoy 1w
| I T R s ||
5) e PR W gl
T e Sy T Rt |

IV. args vy R
O3RN TR TR aa%ﬂ#abd DOWLIET BT NTWOA.
Annotate any Two of the following.
1) e shaciee o afda
2) e dem: S -SieEE|
3) frne g W @ @l
4) YR e wee i)

V. wwpa v I feraml
ﬁo"‘%s XD YO,
Answer in Sanskrit

¥) fog fafeaet formml (T2 ma)

)
3)
5)
7

|
Hrail
il
|

o) HER-gEN-ae forel (TrguiieaE)

1
3)
5)
7)

g
ques |
S| ,
Fhifeeam:

3)

2)
4)
6)
8)

2)
4)
6)
8)

TIRSA|

Faqma|

g =

gt
K EE G

AECC05.2

(2%3=6)

(5%x1=5)

(4x1=4)

[P.T.O.




‘0 C) AECC05.2
VI. wfedzfin afeen Ao (5%2=10)
THfer R aw: v T T v, s, gaiiiya sdal T ) H I HE
e g WA w: Ty e Y R SeraEy | S 3 agul: Teas: JER: | HHReEn
formn g wrah e R T st e s e e Rl ) Mo T gEET
Tomfufa: o 3u; At R gere a1w: sAHART T T AR, RIS s
|: ggIsaan|
RS IH
1) wwiitaw: & &6 savaa?
2) U uFEn: \agE Ateest e
3) w6 wgane
4) T TiiaW: SEHTIHRA ?
5)  itew: femm srwam?
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